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response for each question. More than one response will be treated as wrong answer.
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question which is left blank.
6.  While writing Name and Roll No. on the top of the OMR Sheet in appropriate boxes use “ONLY BLACK
BALL POINT PEN".
7. After you have completed filling in all your responses you should handover the OMR Sheet to the invigilator.

You are permitted to take away the Test Booklet.

There will be no penalty for a

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

1.With reference to the Ecosystem, which of the following
statements is/are correct?

1.Energy always flows from higher to lower trophic level and is
unidirectional.

2.Pyramids of numbers are generally upright, whereas pyramids of
energy are always inverted.

3.Aquatic Ecosystem generally has inverted pyramid of biomass.
Select the correct answer using the code given below:

(a) 3 only

(b) 2 and 3 only

(c)1,2and 3 only

(d) 1 and 3 only

2.Which of the following is/are unique characteristic/characteristics
of Tundra biome?

1.Devoid of trees except stunted shrubs.

2.In Fauna, reptile and amphibians are most abundant.

3.In southern part of Tundra biome, lichens mosses are found.
Select the correct answer using the code given below:

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

3.Which one of the following terms describes a zone of junction
between two or more diverse ecosystem?
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(a) Ecotone

(b) Ecological niche

(c) Biome

(d) Habitat

4.With reference to the Biofertilizers, Which of the following
organisms is/are main source of Biofertilizers?

1. Fungi
2. Bacteria
3. Algae

Select the correct answer using codes given below.
(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d)1,2and 3
5.Which of the following can be found as pollutant in the radioactive
wastes in some parts of India?
1. Uranium

2. Thorium

3. Potassium
4. Cobalt

5. Dioxin

Select the correct answer using codes given below.
(a) 1, 2 and 4 only
(b) 2, 3,4 and 5 only
(c)1,2,3and 4 only
(d)1,2,3,4and 5
6.With reference to Fly Ash production in India, which of the
following are the areas where Fly ash can be deployed?
1. It offers greater strength to the building.
2. Abandoned mines can be filled up with fly ash.
3. Fly ash can increase the crop yield.
4. Fly ash settles on the leaves of the crop plants and
increases the photosynthesis process.
Select the correct answer using codes given below.
(a) 1, 2 and 4 only
(b) 2, 3 and 4 only
(c) 1,2 and 3 only
(d)1,2,3and 4
7.With reference to Photochemical Smog, which of the following
statements is/are correct regarding the impacts of it?
1. Human lungs can get permanently damaged due to
prolonged exposure to smog.
2. The ozone in smog also affects plants growth and can
cause widespread damage to crops and forest.
3. It hampers visibility.
4. Heavy Photochemical smog results in the cases of rickets
among people.
Select the correct answer using codes given below.
(a) 1, 2 and 4 only
(b) 2, 3 and 4 only
(c)1,2and 3 only
(d)1,2,3and 4
8.With reference to The Wild Life (Protection) Act 1972, which of
the following statements is/are correct?
1. It deals not only with the protection of wild birds and wild
animals, but also of specified plants.
2. Act specifies the animals that can be killed such as
common crow and fruit bats etc.
3. Project Brown antlered Deer was started under this Act.
4. National Board of Wildlife chaired by Prime Minister was

(b) wRFEufas & (Ecological niche)
(c) ST
(d) UTshice f¥arT (Habitat)
4319 38 & el 7, @ d  Fla/a g, Ja3RE F
qET A 8187
1. Hdd
2. Siarg
3. darer
AT fET 7T e T I H LT 3T T I Y
(a) FaeT 1 3% 2
(b) Faer 1 3R 3
(c) Faer 2 3R 3
(d)1,233
5ﬁmﬁ‘@aﬁﬁaﬁalﬁméxwmﬁi%mﬁﬁ%ﬁw
asmﬁrmtrmaao—a%?

FidTec
3 fFaeT
mﬁmmwﬂmﬂwaﬁmwmﬁ
(a) Faer 1,2 3 4
(b)Faer 2,3,4 3R 5
(c)m1,2,33m4
(d)1,2, 3,435
6. & FelTs VT 3T & Hegdl H, feaAfafad & & fohet yaRrT &
FATS VLA T 3TN fHaT ST &2
1. Ig fsTor & fore i & aiftres arfda sare #ear €1
2. 9RcTad GerHT Y TS U & 1T ST JohaT &1
3. oIS VA B ST 3T 96T Tohll 51
4. TS Uer it F 9t 9 38 ST § 31R Wehrer HReivor iy
gfshar a¢ ST &
AT U 31U she &1 IYAT T HET 3T T AT
(a) Faer 1, 2 3 4
(b) Saer 2, 331K 4
(c)Faer 1,2 3R 3
(d)1,2, 334
7 IR G & e i, Ptatad suet § @ ST a
mﬂsqam’rasaﬁﬁﬂ'é‘r%/%?
&Y o T H & HAY e ol I ALl hohs TURN &7 &
&fered gy gea &
2. gu A HISE IS el & fera i gentad o e § 3K
ST BEAT AT Tl Y IS YA T b &1 Fehell &1
3. g T IR il &
Y GehTel-THTAh &4 & ollait & Reehed 9T g1 Sirell &1
;ﬁﬁﬁvmaﬁaﬁmwa@‘rmwwaﬁ
(a)Fad 1, 23K 4
(b) Faer 2, 3 3 4
(c)Faer 1,2 3 3
(d)1, 2, 33k 4
SH_JGﬁHH(HTaTUT)mﬁW1972a?HEﬁﬁ Sfafad sy &
ﬁaﬁam/ﬁﬂ%‘r%/%v
g =T ha ol STl gfarar 3R STeTely SAT=TaR & TET0T 7,
sfes Afese gl & Tretor & &y Tefaa &
2. 3ARaE a Rfése [Far g & 6 el o/ 9#A Siar
3R THIEE T ART S T &)
3. TS fgwor uRAeTT 58 3R & dgd 4% 1 =iy o
4. mﬁmwmmma—ashaa%ﬁsﬂ
sifafaas & aga aifea fovar arar ar
A T 91T e T 3G Y HET 3R T TFA

KUMAR’S IAS AGRA,

Contact Number:+91-7078888888, Mail I'd :kumariasacademy@gmail.com




IAS

KUMAR'’S IAS

PCS

constituted under this Act.
Select the correct answer using codes given below.
(a) 1, 2 and 4 only
(b) 2, 3 and 4 only
(c) 1,2 and 3 only
(d)1,2,3and 4
9.With reference to tidal/mangrove vegetation in India, which of the
following statements is/are correct?
1.  Mangroves have buttress roots also called as
Pneumatophores
2. Mangroves are salt tolerant vegetation
3. Mangroves thrive well in temperate region
4. Wood can"t be utilized for fuel
Select the correct answer using codes given below.
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3 only
(d)1,2,3and 4
10.A National Park in India has following characteristics:
1. Park lies at the edge of a plateau, and is bounded by north
by Banas river & in south by Chambal river.
2. ltis site of one of the largest Banyan Tree in India.
3. Parkis under Project Tiger.
Which of following National Park has all of the above
characteristics?
(a) Bandhavagarh National Park
(b) Ranthambore National Park
(c) Kanha National Park
(d) Gaurumara National Park
11.Which reference to Evolution of living organisms on earth, which
of the following is the correct sequence of evolution?
(a) Spiders- Snakes-Termites-Corals
(b) Snakes-Spiders- Termites-Corals
(c) Corals- Spiders- Snakes-Termites
(d) Termites-Spiders- Snakes-Corals
12.Consider the following:

1. Ants
2. Lizards
3. Monkeys

Which of the above is/are predator/predators of butterfly?
(a) 1 only
(b) 2 and 3 only
(c) 1 and 2 only
(d)1,2and 3
13.Consider the following:
1. Spotted Turtle
2. Blue Whale
3. Green Turtle
4. Green Eyed Bushfrog
Which of the above is/are naturally found in India?
(a) 1 and 4 only
(b) 2 and 3 only
(c) 2,3 and 4 only
(d)1,2,3and 4
14.With reference to species interdependence, which of the
following organisms shows/show mutualism?
1. Lichens
2. Leeches
3. Money plants
Select the correct answer using the codes given below.

(a)haer 1,2 31X 4
(b) Faer 2, 3 31 4
(c)Faar 1,2 3R 3
(d)1, 2, 33K 4
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(a) 1 only
(b) 2 and 3 only
(c)1,2and 3
(d) None
15.Which of the following terms describes the region where Edge
effect is observed?
(a) Ecotone
(b) Ecological niche
(c) Marine ecosystem
(d) Home range
16.With reference to biomagnification, consider the following
statements:
1. Phytoplanktons taking up methylmercury is an example of
biomagnification.
2. Biomagnification is the introduction of chemical from
environment into the food chain.
3. Increased level of pollutants are found as one moves
higher in trophic levels.
Which of the statements given above is/are correct?
(a) 3 only
(b) 1 and 2 only
(c) 1 and 3 only
(d)1,2and 3
17.Which of the following pollutants can cause health problems
related to nervous system?
(a) Mercury and Cadmium
(b) Lead and Cadmium
(c) Mercury and Lead
(d) Lead and Silica dust
18.Which of the following term is used to represent plant species
which have been brought in from other places but they threaten the
survival of native plants?
(a) Endemic plants
(b) Exotic plants
(c) Invasive plants
(d) Naturalised plants
19.Which one among the following gases has the maximum global
warming potential?
(a) CO2
(b) Methane
(c) Nitrous Oxide
(d) Sulphur Hexafluoride
20.Which of the following is/are sources of soil pollution?
1. Fly ash from thermal power plants
2. Use of inorganic fertilizers in agriculture
3. Dumping of hospital organic wastes
4. Incineration and pyrolysis
Select the correct answer using the codes given below.
(a) 1 and 3 only
(b) 1, 3 and 4 only
(c)1,2and 3 only
(d) 1 and 2 only
21.Which of the following leads to air pollution?
Traffic Congestion
Vehicular fuel adulteration
Fuel wood burning
Power plants
Uranium mining and Uranium Enrichment Process
Select the correct answer using the codes given below.
(a)1, 2 and 3 only

oD =

(d) P .
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(b)2, 3 and 4 only
(c)1, 2,3 and 4 only
(d)1,2,3,4and 5
22.Which of the following affects/affect rate of evaporation of water?
1. Increase in the concentration of CO2 gas in the
atmosphere.
2. Afforestation
3. Increase in humidity of air
Select the correct answer using the codes given below.
(a) 1 and 2 only
(b) 2 only
(c) 2 and 3 only
(d)1,2and 3
23.Consider the following organisms:
1. Bacteria
2. Mites
3. Fungi
4. Ants
Which of the above play role in decomposing organic substances?
(a) 1 and 3 only
(b) 1, 2 and 3 only
(c) 2 and 4 only
(d)1,2,3and 4
24.Consider following statements regarding Phytoremediation:
1. It can reduce the mobility and migration of contaminated
soil.
2. It can be used to remove metals from soil and
groundwater.
3. ltis more safe and faster process than traditional
processes of cleaning environment.
Which of the statements given above is/are correct?
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3
25.In which of the following states is snow leopard found in its
natural habitat?
1. Arunachal Pradesh
2. Uttarakhand
3. Sikkim
4. Assam
Select the correct answer using the codes given below:
(a) 2 and 3 only
(b) 1, 3 and 4 only
(c) 1,2 and 3 only
(d)1,2,3and 4
26.Consider the following pairs of protected areas and flora/fauna
found in them:

1. Similipal National Park Gaur
2. Nokrek Biosphere Reserve  Red Panda
3. Betla National Park Mouse Deer

Which of the above pairs is/are correctly matched?
(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

27.Consider the following pairs:

1. Manas Biosphere Eastern Himalaya

Reserve

3. arg e 3T H g
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(d) 1,233
237757 Sl X faarR &3

1. Sirarog

2. @S (Mites)

3. &Ih
4. fifear
39gerd # 4 leT hrafereh qerdf & 3rqerest 7 siffepr foemmar g2
(a) Faer 1313
(b) Faer 1,23k 3
(c) Faer 2 3R 4
(d) 1,2,33R4
24.mﬁﬁﬁmm$mﬁﬁmﬁf@3$ﬁwﬁwﬁ

1. I8 gi¥d FeT & AfRerdr 3R fEYTdsT T TeT HehdT &

2. mﬁ;mﬁmﬁﬁwﬁ%%@wm%mm

HehT &
3. TGO &l TATS Flet d [olT Ig IR Iishanait &

31fe TRfera 3R g ufsear g

FWR T 3T FUA F & Pl VA FUT TEY /2

(a) aer 132

(b) Faer2 3R 3

(c) Faer 133

d) 1,233

25.AFff@d 7 & foret Tl 7 R g3 et grehfaies gatara 7

9T ST &7

1. 3700 9G2T

2. IREUS

3. [EIELGTa!

3EH
mﬁvmaﬁwmwaﬁmaﬁ

(a) Faer2 3R 3

(b) aer 1,3 3R 4

(c) aer 1,233

(d) 1,2, 33k 4
2smamwmmﬁam/m$aﬁﬁﬁmﬁ@aw

9 3R &1
1. TRFITe TSET o=t 37 31k (Gaur)

3T
2. Alshes IRATEHIX Rerd T uisr
3. ST TSET 3T A3 B R

39derd # § i AU/A oA Fgr AT 8/8?
(a) Faer 13k 2

(b) FaeT2 3k 3

(c) Faer 13X 3

(d) 1,233

27 fArAfafd oAt ) faar

1.\ 7H SRR Red CCIRRGIGE
2.lIR sfter gdf °1e

3 IGHIT ToToild IIRTT  I19T T Hetel

3ugerd & A il AI/A oA TE GAToIT 87872
(a) Faer 1

(b) hael 2

(c) saer 13T 3

KUMAR’S IAS AGRA,

Contact Number:+91-7078888888, Mail I'd :kumariasacademy@gmail.com




IAS

KUMAR'’S IAS

PCS

Eastern Ghats
Ganga Plains

2. Lonar Lake

3. Chandraprabha
Wildlife Sanctuary

Which of the above pairs is/are correctly matched?
(a) 1 only
(b) 2 only
(c) 1 and 3 only
(d) 2 and 3 only
28.Which of the following chemical pollutants is/are present in
Photochemical Smog?
1. Nitrogen Oxides
2. Volatile Organic Compounds (VOC)
3. Ozone
4. Peroxyacetyl Nitrates (PAN)
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 1, 2 and 3 only
(c) 2 and 3 only
(d)1,2,3and 4
29.Which of the following categories is/are included under Protected
Area network in India?
1.  Wildlife Sanctuary
2. Conservation Reserve
3.  Community Reserve
4. National Park
Select the correct answer using the code given below.
(a) 1 and 4 only
(b) 2 and 3 only
(c) 1,2 and 4 only
(d)1,2,3and 4
30.Which of the following statements is/are correct about
Mangroves?
1. It can grow along the intertidal zones in tropical and
subtropical coastal regions.
2. East coast of India has more Mangrove cover than the
West coast.
Select the correct answer using the code given below.
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
31.Consider the following statements about "Ecotone™:
1. Ecotone refers to the population of different kinds of
organisms living together and sharing the same habitat.
2. Ecotones are the areas of high biodiversity.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
32.From the point of view of evolution of living organisms, which
one of the following is the correct sequence of evolution?
(a) Cat fish - Tortoise - Otter - Kiwi
(b) Cat fish - Kiwi - Tortoise - Otter
(c) Tortoise - Cat fish - Otter - Kiwi
(d) Cat fish - Tortoise - Kiwi - Otter
33.Consider the following:
1. Chlorofluorocarbons
2. Hydrofluorocarbons
3. Hydrochlorofluorocarbons

(d) Faer 2 3R 3
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(b) aer 2
(c) 13k 2 g=t
(d) Far1,TEr2
31.Consider the following statements about "Ecotone™:
1. Ecotone refers to the population of different kinds of
organisms living together and sharing the same habitat.
2. Ecotones are the areas of high biodiversity.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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4. Halons
Which of the above are responsible for depletion of the ozone
layer?
(a) 1 and 2 only
(b)1,2and 3
(c) 3 and 4 only
(d)1,3and 4
34.With regard to Biological Oxygen Demand (BOD) in an aquatic
ecosystem, consider the following statements:
1. BOD is the amount of oxygen required for the respiration
of all aquatic organisms in an ecosystem.
2. Higher the BOD, lower is the pollution level in the aquatic
ecosystem.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
35.Consider the following statements about corals:
1. They live in a symbiotic relationship with algae.
2. They mostly thrive in warm tropical oceans.
3. Western coastal waters provide favorable conditions for
their growth.
4. They have low genetic diversity and are vulnerable to
changing climatic conditions.
Which of the statements given above is/are correct?
(a) 1 and 3 only
(b) 2 and 3 only
(c) 1,2 and 4 only
(d)1,2,3and 4
36.Consider the following pairs of protected area networks and
respective states:

1. Sonai Rupai Arunachal Pradesh
2. Keibul Lamjao Mizoram
3. Manas Assam

Which of the pairs given above is/are correctly matched?
(a) 1 and 3 only
(b) 2 only
(c) 3 only
(d)1,2and 3
37.The Biodiversity Act - 2002 addresses issues of sustainable use
of biological resources in the country. Which of the following is/are
exempted from prior approval under the act for obtaining biological
resources?

1. Local people and communities of the area.

2. Vaids and Hakims

3. Government sponsored collaborative research programs
Select the correct answer using the code given below.
(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d)1,2and 3
38.In the context of climate change, the most appropriate meaning
of the term "geo-engineering" is
(a) Application of eco-friendly mining techniques
(b) Putting heat-reflecting particles high in the air
(c) Application of eco-friendly techiques for building and
construction purposes
(d) Seeding oceans with sulphur particles to trap CO2 gas
39.Biomagnification is a process which occurs across a food chain.
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For it to occur, the pollutant must be:
1. Long-lived
2. Mobile
3. Soluble in fats
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 2 and 3 only
(c) 2 only
(d)1,2and 3
40.With reference to ecosystems, consider the following
statements:
1. It remains always in an equilibrium state.
2. It can regulate itself without any external input.
3. A small patch of soil in a garden can be termed as an
ecosystem.
Which of the statements given above is/are correct?
(a) 1 and 2 only
(b) 3 only
(c) 2 and 3 only
(d)1,2and 3
41.Which of the following incorporate provisions both for
conservation of environment and sustainable livelihood generation
for local population in their respective agenda?
1. Man and Biosphere Program
2. Eco Sensitive Zones
3. Eco-Tourism
4. Ramsar Convention
Select the correct answer using the code given below.
(a) 1 and 3 only
(b) 1, 3 and 4 only
(c) 2 and 4 only
(d)1,2,3and 4
42.Though the impact of climate change is observed in all parts of
the world it is more pronounced in the Arctic and Antarctica regions.
Which of the following is/are main reasons behind this phenomena?
1. The formation of polar stratospheric clouds in both the
regions leads to ozone depletion.
2. Cold temperature and prolonged darkness work as a
catalyst to the process of ozone depletion.
Select the correct answer using the code given below.
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
43.Consider the following:
1. lIce sheets

2. Tree Rings
3. Corals
4. Rocks

Which of the above is/are used as records to determine changes in
Earth"s climate (Paleoclimatology)?
(a) 1 and 4 only
(b) 1, 2 and 4 only
(c) 2,3 and 4 only
(d)1,2,3and 4
44.With reference to Ecological pyramids consider the following
statements:
1. Ecological pyramid of number is always upright as there
are always lesser number of top level consumers than the
producers.
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2. Ecological pyramid of biomass is upright in most
ecosystems on land but it is generally inverted in aquatic
ecosystem.

3. Ecological pyramid of energy is always upright because
when energy flows from one trophic level to another, some
energy is always lost.

4. Ecological pyramid assumes a simple food chain and it
does not accommodate a food web.

Which of the statements given above is/are correct?

(a) 1,2 and 3 only

(b) 2, 3 and 4 only

(c) 1, 3 and 4 only

(d) 1, 2 and 4 only

45.With reference to thermal pollution, consider the following
statements:

1. It may increase the metabolic rate of aquatic animals.

2. It may lead to algal bloom.

Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
46.Which of the following may contribute in achieving the INDCs
(Intended Nationally Determined Contribution)?
1. Encouraging use of public transport.
2. Increasing emission intensity of GDP.
3. Increasing area under Mangroves.
Select the correct answer using the code given below.
(a) 1 only
(b) 1 and 3 only
(c) 2 and 3 only
(d)1,2and 3
47.Which of the following is/are the anthropogenic factors resulting
in land degradation in India?

1. Jhum Cultivation

2. Land use diversion

3. Mining

4. High intensity monsoons

Select the correct answer using the code given below.

(a) 1 and 3 only

(b) 1, 2 and 3 only

(c) 2 and 4 only

(d)1,2,3and 4

48.Which of the following characteristics of a species does not
make it susceptible to extinction?

(a) Large body size

(b) Low reproductive rate

(c) Feeding at high trophic levels in a food chain

(d) Varying migratory routes

49.With reference to Agasthyamalai Biosphere Reserve, consider
the following statements:

1. The biosphere reserve is spread over the states of
Karnataka, Kerala and Tamil Nadu.

2. Anaimudi, the highest peak of Western Ghats, is situated
in the reserve.

3. Thereserve is home to Nilgiri Tahr and Asian Elephants.

Which of the statements given above is are correct?
(a) 1 and 2 only

(b) 1 and 3 only

(c) 3 only
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(d)1,2and 3
50.Which of the following is/are the possible consequences of over
exploitation of groundwater?

1. Reduction of water in streams and lakes

2. Increased salinity of water

3. Land subsidence

4. Drying up of wells

Select the correct answer using the code given below.

(a) 1 and 4 only

(b) 1, 2 and 4 only

(c) 2 and 3 only

(d)1,2,3and 4

51.Which of the following statements best describes the term
'Ecotype'?

(a) Itis a type of artificial ecosystem that provides an alternative to a
species for growth and survival.

(b) It is a transition area between two biomes where communities
interact.

(c) It is a genetically distinct variety within a species, which is
adapted to specific environmental conditions.

(d) It is a type of ecosystem in which inherent balance is maintained
between biotic and abiotic components.

52.With reference to thermoregulation in animals, consider the
following statements:

1. In cold-blooded animals, the body temperature tends to
match with the environmental temperature in which they
live.

2. Human beings are cold-blooded species as they regulate
their temperature according to the external environment.

3. Warm blooded animals require more food and energy as
compared to cold blooded animals of the same weight.

Select the correct the answer using the code given below.

(a) 1 and 2 only

(b) 1 and 3 only

(c) 3 only

(d)1,2and 3

53.Which of the following is/are different strategies of adaptation in
animals?

1. Mimicry

2. Colouration

3. Aestivation

4. Migration

Select the correct answer using the code below.
(a) 1 and 4 only

(b) 1, 2 and 4 only

(c) 3 only

(d)1,2,3,and 4

54.Consider the following plant adaptations:

1. Cluster roots

2. Nitrogen-fixing root nodules

3. Mycorrhizae

Which of the above plant adaptations is/are suited for survival in
oligotrophic soils?

(a) 2 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

55."A region which was a part of erstwhile Gondwanaland, has a
remarkable proportion of flightless birds with almost no native
terrestrial mammals and a few reptiles and amphibians." Which of
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the following countries is best described by the statement given
above?

(a) Madagascar

(b) Australia

(c) New Zealand

(d) Greenland

56.Consider the following pairs:

Environmental Purpose

Conventions

1. Stockholm To protect environment from persistent
Convention organic pollutants (POPs)

2. Rotterdam Control of Transboundary Movements
Convention of Hazardous Wastes

3. Basel Convention : Multilateral treaty to promote shared
responsibilities in relation to
importation of hazardous chemicals
Which of the pairs given above are correctly matched?
(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3
57.Which of the following diseases is not caused by consumption of
contaminated water?
(a) Blue Baby Syndrome
(b) Itai Itai disease
(c) Black-foot disease
(d) Emphysema
58.With reference to Indicators of polluted water, consider the
following statements:
1. Highly polluted water has a low Chemical Oxygen Demand
(COD).
2. Destruction of tubifex, an indicator species, is an evidence
of high pollution.
3. High species diversity supported by an aquatic ecosystem
signifies good water quality.
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 2 and 3 only
(c) 3 only
(d)1,2and 3
59.With reference to Acid Rains, which of the following statements
is notcorrect?
(a) They cause leaching of aluminium and magnesium in the soil
(b) They reduce the susceptibility of trees to pest attacks
(c) They cause delay in the decomposition of organic material in the
soil
(d) They increase the levels of toxic heavy metals in lakes
60.With reference to Zoological Survey of India (ZSI), consider the
following statements:
1. ltis a statutory body under Ministry of Environment and
Forest.
2. It undertakes Environmental Impact Assessments with
regard to fauna.
3. It prepares the Red Data Book, Fauna of India and Fauna
of States.
Which of the statements given above is/are correct?
(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d)1,2and 3
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61.Which of the following statements is/are correct regarding
Ozone?
1. Itis one of the primary components of photochemical
smog.
2. ltis naturally present in the Troposphere in traces.
3. ltis created due to photo-chemical reaction between
nitrogen oxides and volatile organic compounds.
Select the correct answer using the code given below.
(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3
62.With reference to Vermin animals, consider the following
statements:
1. Animals that threaten humans by destroying crops,
livestocks and spreading diseases are vermin animals.
2. "Vermin" is declared under the Wildlife Protection Act,
1972.
3. They can be declared so by both central and state
governments.
Which of the following statements given above is/are correct?
(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d) 1, 2 and 3 only
63.Which of the following is/are the uses of Algae?
1. Carbon dioxide fixation
2. Purification of wastewater
3. Food supplements
4. Biofuel production
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 2 and 3 only
(c) 3 and 4 only
(d)1,2,3and 4
64.Mandated by the COP resolution of CITES, the Monitoring of
lllegal Killing of Elephants (MIKE) was initiated in South Asia for the
long-term management of elephant populations. Which of the
following is/are among the MIKE sites in India?

1. Garo Hills
2. Mayurbhanj
3. Wayanad

Select the correct answer using the code given below.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

65."Their species are among one of the oldest creatures in the
world along with some species of turtles, crocodiles and sharks.
They are generally blind and catch their prey in a unique manner.
They emit an ultrasonic sound which reaches the prey. They
register this image in its mind and subsequently catch hold of its
prey." Which of the following species is best described by the
statements given above?

(a) Dugong

(b) Gangetic Dolphin

(c) Porpoise

(d) Octopus

66.Living root bridges are a form of tree shaping common in the
southern part of the Northeast Indian state of Meghalaya. Which of
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the following trees are used for building these root bridges?
(a) Peepal Tree
(b) Rubber Tree
(c) Sundari Tree
(d) Rosewood Tree
67.Which of the following species may be classified as a
monotreme or egg laying mammals?
1.  White-faced whistling duck
2. Duck-Billed platypus
3. Blue Whale
4. Echidina
Select the correct answer using the code given below.
(a) 1, 2 and 3 only
(b) 2 and 4 only
(c) 3 only
(d)1,2,3and 4
68.Phumdis, a series of floating islands, are heterogeneous masses
of vegetation, soil and organic matter, in different stages of decay.
In which of the following states are you most likely to find these?
(a) Mizoram
(b) Arunachal Pradesh
(c) Manipur
(d) Kerala
69.Which of the following reasons best explains why Silent Valley
National Park is named so?
(a) Absence of noise making cicadas insects
(b) Absence of noise making Howler monkey
(c) Absence of noise making bird species
(d) Complete absence of human settlements
70.Which of the following are the sources for Mercury Pollution?
1. Coal-fired power plants
2. Trash incinerators
3. Gold mining
4. Chlor-alkali plants
5. Cementkilns
Select the correct answer using the code given below.
(a) 1, 2 and 4 only
(b) 1,3 and 5 only
(c) 2,3 and 5 only
(d)1,2,3,4and 5
71.The National Green Tribunal can hear cases related to which of
the following Acts?
The Environment (Protection) Act, 1986
The Biological Diversity Act, 2002
The Wildlife (Protection) Act, 1972
Forest Rights Act, 2006
The Water (Prevention and Control of Pollution) Cess Act,
1977
Select the correct answer using the code given below.
(a) 1,2 and 3 only
(b) 2, 4 and 5 only
(c) 1,2 and 5 only
(d) 1, 3, 4 and 5 only
72.Consider the following diseases:
1. Malaria
2.  Amoebiasis
3. Ascariasis
4. Filariasis
Which of the following disease(s) is/are caused by Protozoan’s
parasite?
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(a) 1 only
(b) 1 and 2 only
(c) 2,3 and 4 only
(d) 1,3 and 4 only
73.Which of the following are protocols to the Convention of
Biological Diversity (CBD)?
1. Cartagena Protocol
2. Kyoto Protocol
3. Montreal Protocol
4. Nagoya Protocol
Select the correct answer using the code given below.
(a) 1,3 and 4 only
(b) 1 and 4 only
(c) 2 and 3 only
(d) 3and 4 only
74."The fauna of this island nation is dominated by a relic
assemblage of unusual forms in which primitive primates are
notable. It is famous for its lemurs, that have been isolated from the
evolutionary changes of the world and represent the most
endangered group of mammals." Which of following countries is
best described by the statements given above?
(a) Australia
(b) New Zealand
(c) Madagascar
(d) Maldives
75.Heliophytes and sciophytes are plants adapted to variablity of
which of the following factors?
(a) Water
(b) Soil
(c) Sunlight
(d) Inorganic Salts
76.Which of the following life forms are you likely to observe in a
desertic vegetation?
1. Ephemeral herbs
2. Succulent plants
3. Shrubs and small trees
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 2 only
(c) 2 and 3 only
(d)1,2and 3
77.Which of the following is/are advantages of biopesticides?
1. Prevents soil erosion
2. Protects water quality
3. Promotes biodiversity
Select the correct answer using the code given below.
(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d)1,2and 3
78.With reference to Himalayan Brown Bears, consider the
following statements:
1. They are found in Jammu & Kashmir and Himachal
Pradesh.
2. They go into aestivation to cope with winter related
problems.
3. They are included in the Schedule | of the Wildlife
Protection Act.
Which of the statements given above is/are correct?
(a) 1 and 2 only
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(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

79."This region is a delta region of about 900 sq. km situated in the
west coast of Kerala State, India. The farming System practiced
here is unique as it is the only system in India that practices rice
cultivation below sea level. It is one of the Globally Important
Agricultural Heritage Systems (GIAHS) sites in India."

The above passage describes which of the following places?
(a) Koratpur

(b) Pampore

(c) Kuttanad

(d) Munnar

80.Consider the following pairs:

Inter/Intra Specific Example

interactions

1. Mutualism Suckerfish attached to a shark

2. Competition Bees in colony
3. Predation Biological pest control

Which of the pairs given above is/are correct?

(a) 1 and 2 only

(b) 2 only

(c) 3 only

(d) 2 and 3 only

81.Which of the following diseases can be classified as water-borne
diseases?

1. Hepatitis A
2. Typhoid

3. Cholera

4. Polio

Select the correct answer using the code given below.
(a) 1,2 and 3 only
(b) 2, 3 and 4 only
(c) 1 and 4 only
(d)1,2,3and 4
82.Critical Wildlife Habitats have been defined under which of the
following acts?
(a) Environment Protection Act, 1986
(b) Forest Rights Act 2006
(c) Biological Diversity Act, 2002
(d) Wildlife Protection Act, 1972
83.Consider the following statements regarding Nutrient
Immobilization:
1. In this process, nutrients are converted from the inorganic
to organic form by microorganisms.
2. Due to this process, there is an increased availability of
nutrients to the plants.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
84.Consider the following statements regarding United Nations
Framework Convention on Climate Change (UNFCCC):
1. It was adopted at the "Rio Earth Summit" in 1992.
2. ltis alegally binding as it sets mandatory limits on
greenhouse gas emissions.
3. lts ultimate objective is to eliminate greenhouse gas in the
atmosphere.
Which of the statements given above is/are correct?
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(a) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

85.In which of the following zones of lakes and ponds
photosynthesis does NOT take place?

1. Profundal
2. Limnetic
3. Littoral

4. Benthic

Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 4 only
(d) 3and 4 only
86.Two major biomes are represented in this site - the grassland
biome and the forest biome. It is the only site in the world which
hosts viable population of the critically endangered pygmy hog.
Identify the site.
(a) Nilgiri Biosphere reserve
(b) Manas National Park
(c) Agastyamalai Biosphere reserve
(d) Namdapha National Park
87.The term "Dark sky reserve" is often seen news is:
(a) a zone showing most evidences of presence of dark matter
(b) an area kept free of light pollution
(c) an area of high ozone layer depletion
(d) an area of high poaching activities on migratory routes of birds
88.Which of the following was/were the outcome of UNCED Earth
summit 19927
1. Convention on Biological Diversity
2. Unites Nations Framework Convention on Climate Change
(UNFCCC)
3. Agenda 21
Select the correct answer using the code given below.
(a) 2 only
(b) 1 and 2 only
(c) 1 and 3 only
(d)1,2and 3
89.Consider the following statements with regard to Biodiversity
hotspots:
1. Biodiversity hotspots are declared by The Conservation
International.
2. All the biodiversity hotspots are located within the tropics.
3. India has two biodiversity hotspots located in Western
Ghats and Eastern Himalayas.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3
90.The National park is a part of the world’s 38 ‘hottest hotspots’ of
biological diversity, a UNESCO world heritage site. It has more than
630 sq km area of montane grasslands and tropical rainforests form
the largest protected block within the Western Ghats. The park is
home to unique, threatened and endangered biodiversity including

lion-tailed macaques, tigers, Malabar civets and great pied hornbills.

The rivers Tunga, Bhadra and Netravati, which originate from the
heart of the park, sustain millions of rural people in south India.
Identify the National park described in the above paragraph.
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(a) Nagarhole national park
(b) Periyar national park
(c) Tadoba national park
(d) Kudremukh national park
91.With reference to Kigali Amendment to the Montreal Protocol,
consider the following statements:
1. It aims to reduce global warming by phasing out use of
hydrofluorocarbons (HFCs).
2. It violates the principle of common but differentiated
responsibilities.
3. The amendment is legally-binding, with mandatory targets
for countries.
Which of the statements given above is/are correct?
(a) 1 and 2 only
(b) 1 and 3 only
(c) 3 only
(d)1,2and 3
92.Which of the following helps in prevention of forest fires in India?
1.Creation and maintenance of fire lines.
2.Creation of water harvesting structures
3.Replacement of broad leaved trees with chir pine.
4.Demarcation of forests into fire prone zones.
Select the correct answer using the code given below.
(a) 1,2 and 4 only
(b) 2 and 3 only
(c) 3 and 4 only
(d)1,2,3and 4
93.Consider the following statements with reference to Antlers of
Deer:
1. Antlers are the extentions of the skull of the deer.
2. Deers shed their antlers periodically.
3. Antlers of spotted deer are used in the preparation of
ayurvedic medicine.
Which of the statements given above is/are correct?
(a) 1 and 2 only
(b) 2 and 3 only
(c) 3 only
(d)1,2and 3
94.Which of the following air pollutants are emitted by stubble
burning or burning of crop residues?
1. Carbon monoxide
2. Methane
3. Nitrous oxide
4. Particulate matter
Select the correct answer using the code given below.
(a) 1 and 4 only
(b) 1, 2 and 3 only
(c) 2, 3 and 4 only
(d)1,2,3and 4
95.Consider the following statements with reference to
Biomagnification:
1. Due to biomagnification, the concentration of a pollutant is
maximum at lowest trophic level.
2. Concentration of a pollutant occurs since it is metabolized
and excreted slowly.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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2. 9gu Hifgd &l s SoIeRT TATII 3R Schote]
e fq A grar g .
ST HUAT H § HioT-and T LE?
(a) Faer 1
(b)Faa2
(c) 1 3R 2 g=r
(dysar1, T8 2
96.fAFATATRT & & T IRANTAT & TATIROT ToITT 3Teholed & AfAT
Ta3et el T TEY Hefshet &1 82
(a) TITATT - BRI - goeT (FATENereT) - woTar T Fagaiwor
(b) TSRITATT - TRITATT - FHTT T FILATOT - AFHT
(c) TR - TR - fAoT fAAToT - werma &1 fageryor
(d) THITIT - THTT T faeryoT — AU AT — e
97.uTRTEAUTAHT & T & "33 S (dead zone)" Ue, fohdy TefaTd

AT 82
(a) U Sifdeh & & HHeHr &1F fSaent hA-A-ha 70 FidRrd el e
ASC BT IHT 8
(b) T T &1 S AR & AT AT & ATSCISTT T TTeR ¥y
ATl GEHSIAT TTRAT3T # TETIe i 81
(c) wﬁwmmaﬁéwﬁﬁzﬁaw (ecological
succession) sTET §31T &1
(d) 3TRe WIeT Sger ¥ TRd &)
gswm%ﬁwu#ﬁmﬁ@ﬁmﬁﬁﬁawﬁﬂ'ﬁ%m
1. FeT & dIveh dcal T He gl &
2. mﬂmmw%ﬁﬁmmm%u
3. Uz 3R aie aEY o JF &1 R R od &
oY T 1T e T 92T Y FeT IR gfAT:
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96.Which of the following is the correct sequence of different steps
involved in Environment Impact Assessment of a project?

(a) Scoping - Screening - Mitigation - Impact analysis

(b) Screening - Scoping - Impact analysis - Mitigation

(c) Screening - Scoping - Decision making - Impact analysis

(d) Scoping - Impact analysis - Decision making - Mitigation
97.With reference to ecology, what does the term dead zones, refer
to?

(a) a biologically rich area that has lost at least 70 percent of their
original habitat.

(b) an area that supports microbial processes that remove vast
amounts of nitrogen from the ocean.

(c) an area where no ecological succession has taken place.

(d) an area with absence of detritus food chain.

98.Which of the following statements is/are correct regarding
Tundra biome?

1.The soils are poor in nutrients.

2.The soil has permanently frozen under-layer called permafrost.
3.The plants and trees develop deep root system.

Select the correct answer using the code given below.

(a) 3 only

(b) 1 and 3 only

(c) 1 and 2 only

(d) 2 only

99.Which of the following statement is/are correct with regard to
variation of biodiversity on the surface of earth?

1.Species diversity increases from higher latitudes to lower
latitudes.

2.Species diversity increases from higher altitudes to lower
altitudes.

Select the correct answer using the code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

100.Which of the following is/are cold blooded species ?

1. Reptiles
2. Birds
3. Fish

Select the correct answer using the code given below.
(a) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

(a) FaeT 3
(b) Shaer 1 31X 3
(c) Haer 1 31k 2
(d) Fhaer 2
99.fAFTTET H @ SlT-H/A et g2 T Tclg ) Sia fafaerar dr
faffieetar & dau & G g/87
1. gardra fafaerar 3T aveqiet & e remelt i 30T saar &
2. g fafderdr 3= qerar & et arar 1 3R Fec 8
A T 91T o &7 3THT R HEY 3R T el BT
(a) Fadl 1
(b)shaer2
(c) 1 3R 2 gr=At
(d)sTar1,T8r2 .
100.fArafafad & & sia-dr srmFEadT yenfa/gsnfaar (Fres soss
Fhefier) 8787
1. &y
2. g&fr
3. HASr
oA T 1T e 1 JGT Y Y IR T TIA HIfSIw:
(a) Faef 1
(b) haer 1 3R 3
(c)mzﬁhs
(d)1,23R3
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